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ASSIGNMENT No. 1

(Units 1–4)
Note: Attempt all questions. All questions carry equal marks.
Q.1
a)
Distinguish between the following:
(10)


i.
Descriptive and Inferential Statistics



ii.
Discrete and Continuous variable



iii.
Primary and Secondary data



iv.
Parameter and Statistic


b)
Arrange the data given below in an array and construct a frequency distribution, using a class interval of 5.00. Indicate the class boundaries and class limits clearly.

(10)
	79.4
	71.6
	95.5
	73.0
	74.2
	81.8
	90.6
	55.9

	75.5
	81.9
	68.9
	74.2
	80.7
	65.7
	67.6
	82.9

	88.1
	77.8
	69.4
	83.2
	82.7
	73.8
	64.2
	63.9

	58.3
	48.6
	83.5
	70.8
	72.1
	71.6
	59.4
	77.6


Q.2
a)
Describe briefly the different types of diagrams generally used for presenting statistical data?

(10)


b)
On the basis of the information given below, indicate whether the distribution is symmetrical or skewed. If skewed, indicate its direction.
(10)


i.

[image: image1.wmf]X

= 56
Median=62,
Mode=68



ii.

[image: image2.wmf]X

= 68,
Median=62,
Mode=56



iii.

[image: image3.wmf]X

= 62,
Median=62,
Mode=62

Q.3
a)
Define and explain frequency distribution, relative frequency distribution and cumulative frequency distribution with the help of example.
(10)


b)
Compute the Geometric and Harmonic means for the following distribution of annual death rates:

(10)
	Xi
	3.95
	4.95
	5.95
	6.95
	7.95
	8.95
	9.95
	10.95
	11.95
	12.95
	13.95

	fi
	1
	4
	5
	13
	12
	19
	13
	10
	6
	4
	1


Q.4
a)
Measures of dispersion are important along with measures of central tendency, explain?


(10)

b)
The weights (in pound) of the 40 male students at a University are given in the following frequency distribution:

(10)
Weight:
118-126
127-135
136-144
145-153
154-162
163-171
172-180

Frequency:
3
5
9
12
5
4
2

Calculate median and the coefficient of variation.

Q.5
a)
Find mean, variance and standard deviation of the following table giving the distribution of age at the time of divorce for 100 women:-
(10)
	Age in years
	15-19
	20-24
	25-29
	30-34
	35-39
	40-44
	45-49
	50-54
	55-59
	60-64

	

f
	2
	3
	6
	10
	16
	21
	18
	11
	9
	4



b)
Calculate the first four moments about the mean and provide one estimate each of skewness and kurtosis of the following distribution.
(10)
	Age
	25
	30
	35
	40
	45
	50
	55
	60

	Frquency
	2
	8
	18
	27
	25
	16
	7
	2


ASSIGNMENT No. 2
(Units 5–9)

Total Marks: 100
Pass Marks: 40
Note: Attempt all questions. All questions carry equal marks.
Q.1
a)
What is the meaning of Index Number? Explain different types of Index Numbers.
(10)

b)
Construct the following index number of prices for 1960 and 1961 from the given data. (i) Base year weighted (ii) Current year weighted.
(10)
	Commodity
	Prices
	Quanties

	
	1955

(base)
	1960
	1961
	1955
	1960
	1961

	A
	70.50
	80.65
	85.00
	270
	276
	290

	B
	146.95
	155.00
	154.75
	24
	18
	44

	C
	25.50
	32.50
	30.50
	130
	121
	137

	D
	64.75
	75.00
	60.95
	185
	267
	355


Q.2
a)
Define and explain the terms: secular trend, seasonal variation, cyclical variation and irregular variation.
(10)

b)
Differentiate between the terms correlation and regression. Also describe the important properties that the correlation coefficient posses.
(10)
Q.3
a)
The following data pertains to length of service (in years) and the annual income (in thousand rupees) for a sample of ten employees of an industry:
(10)


Length of service(X):
6
8
9
10
11
12
14
16
18
20


Annual income(Y):
14
17
15
18
16
22
26
25
30
34


Compute and interpret the correlation coefficient between X and Y.


b)
A study was made by a retail merchant to determine the relation between weekly advertising expenditure ($) and sales ($). The following data were recorded:









(10)


Advertising Cost:
40
20
25
20
30
50
40
20
50
40


Sales:
385
400
395
365
475
440
490
420
560
525



Find the equation of the regression line to predict weekly sales from advertising expenditure. Also estimate the weekly sale when $35 is spent on advertising.

Q.4
a)
Define the following concepts.






(10)

i. Null and alternative hypothesis
ii. Type I and Type II error

iii. One tail and two tail test

iv. Degree of freedom







(10)

b)
Suppose you are the manager of a company, and you suppose a difference in the mean length of work time lost due to sickness for two types of employees; those who work at night versus those who work during the day. You suspect that the mean time lost for the night shift exceeds the mean time lost for the day shift. Two samples regarding the night shift and day shift are selected each of 10 employees and number of days lost are recorded, given below:



Night Shift:
15
10
10
7
7
4
9
6
10
12



Day Shift:
8
9
2
0
10
9
9
7
3
3



Would you use a one-tailed or two-tailed test of hypothesis? Test the hypothesis at a = 0.05

Q.5
a)
Test the hypothesis that the average weight of containers of a particular lubricant is 10 ounces, if the weights of a random sample of 10 containers are 10.2, 9.7, 10.1, 10.3, 10.1, 9.8, 9.9, 10.4, 10.3, and 9.8 ounces. Use a 0.01 level of significance and assume that the distribution of weights is normal.

(10)


b)
A new chemical fertilizer, Nitro-plus, yielded 20,400 pounds of tomatoes on the average with standard deviation of 1200 pounds on 40 randomly selected acres of farmland. On another 100 randomly selected acres the standard organic fertilizer produced a mean yield of 19,000 pounds with a standard deviation 1000 pounds. At 5% level of significance do the results of the comparison indicate that the chemical fertilizer really produces larger yields than the organic?








(10)
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